#10 Day2 Verify Trig Identities
VerifyEach, _ - U
11 tanxcscx =8Secx 2 cotl x—escix=-1

’
SN { —

-4 4 | S X
_—-—l"‘—' -
loOSX

Secx

I —

. cscx(1-cos’ x) =sinx
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5, cot’ xcsc’ x ~cot’x=cot* x
| Cotx (esck-1) =
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10. cos® x-2cos? x+1=sin* x
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11. sin"xq—-c:;s';:::sinzxhcoszx 12. sec® x —tan* x = sec? x + tan>
— an’ x
N S . S
é‘jiw H—G:asz,r) Gf&}“%lk) " (5{?sz -F--[_a 'z)c Qiec: K= i Fan )
,”’.J

(5% - o). (Hbarihd)
5;1‘01}(- C(JS-L)‘ @&‘\DAP*Q ‘

e o

_Compute the exact value in degrees WI’\?OUT ﬁsini: calculator.
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9. Cos” [\[_ & "{5/0 10. Arcsin[ \fJ = T C?OO
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